

※プリントアウトもしくはノートに書き写して取り組みましょう。

**<正負の計算 加法> No:1**

$(1) (+9) + (+1) =$

$(1) (+6) + (-6) =$

$(2) (+7) + (+7) =$

$(2) (+4) + (-8) =$

$(3) (+4) + (+3) =$

$(3) (+8) + (-8) =$

$(4) (+9) + (+1) =$

$(4) (+4) + (-8) =$

$(5) (+3) + (+1) =$

$(5) (+1) + (-5) =$

$(6) (+4) + (+8) =$

$(6) (+6) + (-9) =$

$(7) (+9) + (+9) =$

$(7) (+1) + (-8) =$

$(8) (+6) + (+4) =$

$(8) (+8) + (-4) =$

$(9) (+5) + (+2) =$

$(9) (+8) + (-9) =$

$(10) (+7) + (+4) =$

$(10) (+6) + (-1) =$

$(11) (+7) + (+3) =$

$(11) (+8) + (-9) =$

$(12) (+8) + (+3) =$

$(12) (+8) + (-3) =$

$(13) (+3) + (+7) =$

$(13) (+4) + (-8) =$

$(14) (+9) + (+9) =$

$(14) (+3) + (-8) =$

$(15) (+8) + (+9) =$

$(15) (+9) + (-5) =$

$(16) (+8) + (+5) =$

$(16) (+5) + (-5) =$

$(17) (+8) + (+6) =$

$(17) (+2) + (-4) =$

$(18) (+7) + (+3) =$

$(18) (+7) + (-8) =$

<正負の計算 加法> No:2

(1) ( - 2 ) + ( - 6 ) =

(1) ( + 7 ) + ( - 1 ) =

(2) ( - 1 ) + ( - 4 ) =

(2) ( + 5 ) + ( - 1 ) =

(3) ( - 7 ) + ( - 3 ) =

(3) ( + 6 ) + ( - 4 ) =

(4) ( - 9 ) + ( - 9 ) =

(4) ( + 7 ) + ( - 8 ) =

(5) ( - 1 ) + ( - 9 ) =

(5) ( + 2 ) + ( - 4 ) =

(6) ( - 4 ) + ( - 8 ) =

(6) ( + 6 ) + ( - 1 ) =

(7) ( - 8 ) + ( - 8 ) =

(7) ( + 5 ) + ( - 1 ) =

(8) ( - 3 ) + ( - 7 ) =

(8) ( + 1 ) + ( - 2 ) =

(9) ( - 5 ) + ( - 6 ) =

(9) ( + 2 ) + ( - 4 ) =

(10) ( - 3 ) + ( - 4 ) =

(10) ( + 9 ) + ( - 9 ) =

(11) ( - 2 ) + ( - 7 ) =

(11) ( + 7 ) + ( - 4 ) =

(12) ( - 9 ) + ( - 3 ) =

(12) ( + 9 ) + ( - 1 ) =

(13) ( - 2 ) + ( - 6 ) =

(13) ( + 6 ) + ( - 2 ) =

(14) ( - 5 ) + ( - 5 ) =

(14) ( + 9 ) + ( - 2 ) =

(15) ( - 6 ) + ( - 9 ) =

(15) ( + 8 ) + ( - 4 ) =

(16) ( - 1 ) + ( - 2 ) =

(16) ( + 1 ) + ( - 7 ) =

(17) ( - 7 ) + ( - 9 ) =

(17) ( + 3 ) + ( - 3 ) =

(18) ( - 3 ) + ( - 9 ) =

(18) ( + 6 ) + ( - 6 ) =

<正負の計算 加法> No:3

(1) ( + 2 ) + ( + 9 ) =

(1) ( - 6 ) + ( + 9 ) =

(2) ( - 5 ) + ( + 1 ) =

(2) ( - 5 ) + ( - 9 ) =

(3) ( + 9 ) + ( + 6 ) =

(3) ( + 6 ) + ( + 8 ) =

(4) ( + 9 ) + ( - 8 ) =

(4) ( - 6 ) + ( + 6 ) =

(5) ( - 2 ) + ( + 9 ) =

(5) ( + 6 ) + ( - 5 ) =

(6) ( + 4 ) + ( + 5 ) =

(6) ( - 1 ) + ( + 1 ) =

(7) ( + 3 ) + ( - 8 ) =

(7) ( + 6 ) + ( - 3 ) =

(8) ( - 7 ) + ( + 6 ) =

(8) ( + 1 ) + ( + 4 ) =

(9) ( - 7 ) + ( - 6 ) =

(9) ( - 5 ) + ( - 8 ) =

(10) ( + 5 ) + ( + 9 ) =

(10) ( + 7 ) + ( - 7 ) =

(11) ( - 6 ) + ( + 6 ) =

(11) ( - 2 ) + ( + 8 ) =

(12) ( + 8 ) + ( + 8 ) =

(12) ( - 2 ) + ( + 9 ) =

(13) ( + 5 ) + ( - 9 ) =

(13) ( + 3 ) + ( - 5 ) =

(14) ( + 4 ) + ( + 1 ) =

(14) ( - 7 ) + ( + 1 ) =

(15) ( - 9 ) + ( + 4 ) =

(15) ( - 6 ) + ( - 7 ) =

(16) ( + 8 ) + ( - 3 ) =

(16) ( + 1 ) + ( + 2 ) =

(17) ( + 9 ) + ( + 3 ) =

(17) ( - 6 ) + ( - 4 ) =

(18) ( - 2 ) + ( + 7 ) =

(18) ( + 6 ) + ( + 4 ) =